
1

Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 10 printed pages +2 Maps.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 19 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 10 + 2 ekufp=k gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 19 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

GEOGRAPHY (Theory)
Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½

Time allowed : 3 hours Maximum Marks : 70

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad : 70

General Instructions :

(i) There are 19 general questions.
(ii) All questions are compulsory.
(iii) Marks for each question are indicated against it.
(iv) Question numbers 1 to 10 are short answer questions carrying 3 marks each.

Answer to each of these questions should not exceed 80 words.
(v) Question numbers 11 to 15 are also short answer questions carrying 4 marks each.

Answer to each of these questions should not exceed 120 words.
(vi) Question numbers 16, 17 and 18 are long answer questions of 5 marks each.

Answer to each of these questions should not exceed 150 words.
(vii) Question no. 19 contains test items of very short answer. It is of 5 marks.
(viii) Outline maps of the world and India provided to you must be attached with your

answer book.
(ix) Use of templates or stencils for drawing outline maps is allowed.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

(i) lkekU; iz'uksa dh dqy la[;k 19 gSA

(ii) lHkh iz'u vfuok;Z gSaA

(iii) izR;sd iz'u ds lkeus mlds vad fn;s gSaA

(iv) iz'u la[;k 1 ls 10 rd y?kq&mÙkj okys iz'u gSa vkSj izR;sd iz'u ds 3 vad gSaA ,sls izR;sd iz'u

dk mÙkj 80 'kCnksa ls vf/kd ugha gksuk pkfg,A
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(v) iz'u la[;k 11 ls 15 rd Hkh y?kq&mÙkj okys iz'u gSa vkSj izR;sd ds 4 vad gSaA ,sls izR;sd iz'u

dk mÙkj 120 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vi) iz'u la[;k 16, 17 vkSj 18 yEcs&mÙkj okys iz'u gSa vkSj izR;sd ds 5 vad gSaA ,sls izR;sd iz'u

dk mÙkj 150 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vii) iz'u la[;k 19 esa vfr y?kq&mÙkjksa dh ijh{k.k&ensa 'kkfey gSaA blds 5 vad gSaA

(viii) lalkjlalkjlalkjlalkjlalkj vkSj HkkjrHkkjrHkkjrHkkjrHkkjr ds fn, x, js[kk&ekufp=kksa dks viuh mÙkj&iqfLrdk esa vo'; uRFkh dfj;sA

(ix) js[kk&ekufp=k cukus ds fy;s lk¡pksalk¡pksalk¡pksalk¡pksalk¡pksa ;k LVsaflyksaLVsaflyksaLVsaflyksaLVsaflyksaLVsaflyksa ds iz;ksx dh vuqefr nh tkrh gSA

1. State three main aspects of human environment which are studied in human geography.

3×1=3

ekuo i;kZoj.k ds rhu izeq[k i{k crkb, ftudk ekuo Hkwxksy esa v/;;u fd;k tkrk gSA

2. Why are  pipelines  used  extensively in the world,  to  transport commodities  such as

mineral oil and natural gas ? Explain three reasons for it. 3×1=3

lalkj esa ikbiykbuksa dk foLr`r mi;ksx [kfut rsy vkSj izkÑfrd xSl tSlh oLrqvksa ds ifjogu esa

D;ksa fd;k tkrk gS \ blds rhu dkj.kksa dh O;k[;k dhft,A

3. Distinguish between shifting cultivation and sedentary agriculture by stating three points

of each. 3×1=3

LFkkukUrjh Ñf"k vkSj LFkkuc) Ñf"k esa izR;sd ds rhu fcUnq crkrs gq,] vUrj Li"V dhft,A

4. What is rain water harvesting ? Write its any four objectives. 1+2=3

o"kkZ ty laxzg.k fdls dgrs gSa \ blds dksbZ pkj mís'; fyf[k,A

5. Describe three points regarding the importance of quaternary activities in the rapid

economic development of a country. 3×1=3

fdlh ns'k ds rhoz vkfFkZd fodkl esa prqFkZd fØ;kdykiksa ds egÙo dk o.kZu rhu fcUnqvksa esa

dhft,A

6. Describe any three economic problems faced by Indian agriculture at present. 3×1=3

orZeku le; esa Hkkjrh; Ñf"k dh fdUgha rhu vkfFkZd leL;kvksa dk o.kZu dhft,A

7. Distinguish between natural resources and human resources by stating three points of

each. 3×1=3

izkÑfrd lalk/kuksa vkSj ekuo lalk/kuksa esa izR;sd ds rhu fcUnq crkrs gq,] vUrj Li"V dhft,A

8. Why is Mumbai called ‘a unique port’ ? Explain three reasons. 3×1=3

eqEcbZ dks ^,d vuwBk canjxkg* D;ksa dgk tkrk gS \ rhu dkj.kksa dh O;k[;k dhft,A
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9. Draw or trace in your answer-book the outline map of India with the help of map

given below and mark the following therein : 1+1+1=3

(9.1) Industrial region No. 2 with its name.

(9.2) Industrial region No. 4 with its name.
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uhps fn, x, ekufp=k dh lgk;rk ls Hkkjr dk js[kk&ekufp=k viuh mÙkj&iqfLrdk esa cukb, vFkok

Vªsl dhft, vkSj mlesa fuEufyf[kr dks vafdr dhft, %

(9.1) vkS|ksfxd izns'k la[;k 2 rFkk mldk ukeA

(9.2) vkS|ksfxd izns'k la[;k 4 rFkk mldk ukeA

For Blind Candidates only in lieu of Question No. 9.
dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 9 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 9 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 9 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 9 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 9 ds LFkku ijA

(9.1) Name one major industrial region in the state of West Bengal.
(9.2) Name one industrial region in the state of Gujarat.
(9.3) What is an industrial complex ?

(9.1) if'pe caxky jkT; esa fLFkr ,d izeq[k vkS|ksfxd izns'k dk uke fyf[k,A

(9.2) xqtjkr jkT; ds ,d vkS|ksfxd izns'k dk uke fyf[k,A

(9.3) vkS|ksfxd ladqy fdls dgrs gSa \
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10. Study the following map and answer the questions given below : 3×1 = 3

(10.1) Name the railway line shown in this map.

(10.2) In which country does this railway line lie ?

(10.3) Name the stations marked in the map as A and B.

uhps fn, x, ekufp=k dk v/;;u dhft, vkSj iwNs x, iz'uksa ds mÙkj nhft, %

(10.1) bl ekufp=k esa fn[kkbZ xbZ jsyos ykbu dk uke crkb,A

(10.2) ;g jsyos ykbu fdl ns'k esa gS \

(10.3) ekufp=k esa d rFkk [k ls fn[kk, x, LVs'kuksa ds uke fyf[k,A
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For Blind Candidates only in lieu of Question No. 10.

dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 10 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 10 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 10 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 10 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 10 ds LFkku ijA

(10.1) Name the longest railway line in the world.

(10.2) In which country does this railway line lie ?

(10.3) Name the two terminal stations of this railway line.

(10.1) lalkj ds lcls yEcs jsyekxZ dk uke fyf[k,A

(10.2) ;g jsyekxZ fdl ns'k esa gS \

(10.3) bl jsyekxZ ds vfUre fljksa ds nks LVs'kuksa ds uke fyf[k,A

11. Explain four types of cities based on functions by giving specific examples from India.4×1=4

Hkkjr ls fof'k"V mnkgj.k nsrs gq, izdk;ks± ij vk/kkfjr pkj izdkj ds uxjksa dh O;k[;k dhft,A

12. What is the meaning of ‘Technopoles’ ? Explain two important features of technopoles.
Name the world famous technopolis. 1+2+1=4

^izkS|ksfxd&/kzqo* dk D;k vFkZ gS \ izkS|ksfxd&/kzqoksa ds nks izeq[k y{k.kksa dh O;k[;k dhft,A lalkj izfl)

^izkS|ksfxd&lauxj* dk uke crkb,A

13. DEVELOPMENT OF SUPER HIGHWAYS IN INDIA

  Project Total Connecting/Terminal Already Under Contracts Completion
Length Points Completed  Implementation to be Target

  awarded for

Golden Delhi-Mumbai- Substantial
Quadrilateral 5,846 Kms. Chennai-Kolkata- 1,159 Kms. 4,551 Kms. 136 Kms. completion

Delhi by Dec. 2003

North-South Srinagar to
and Kanyakumari
East-West 7,300 Kms. 800 Kms. 688 Kms. 5,812 Kms. Dec. 2007
Corridors Silchar to Porbandar

Connectivity to Kandla, Jawaharlal
10 Major Ports  Nehru, Mormugoa,

Mangalore, Cochin,
363 Kms. Tuticorin, Chennai & 56 Kms. 113 Kms. 194 Kms. Dec. 2005

Ennore,
Vishakhapatnam,

Paradip and Haldia

Others 653 Kms. 136 Kms. 179 Kms. 338 Kms. Dec. 2007

Study the above table and answer the questions given below: 4×1 = 4

(13.1) What is the total length of Golden Quadrilateral ?

(13.2) Name the connecting points of North-South corridor.

(13.3) What is the completion target of connectivity to 10 major ports of India ?

(13.4) What will be the main effect of these super highways after their completion ?
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Hkkjr esa ije jktekxks± dk fodklHkkjr esa ije jktekxks± dk fodklHkkjr esa ije jktekxks± dk fodklHkkjr esa ije jktekxks± dk fodklHkkjr esa ije jktekxks± dk fodkl

ifj;kstuk dqy yEckbZ tks tksM+sxh ---- iwjk gks pqdk dk;kZUo;u Bsds fn;s dk;Z iwjk djus

dk;Z ds v/khu tkus gSa dk y{;

Lof.kZe 5,846 fd-eh- fnYyh&eqEcbZ&psébZ& 1,159 fd-eh- 4,551 fd-eh- 136 fd-eh- fnlEcj] 2003

prqHkqZt dksydrk&fnYyh rd vf/kdka'k

dk;Z iwjk gks

tk,xk

mÙkj&nf{k.k Jhuxj ls dU;kdqekjh

vkSj 7,300 fd-eh- 800 fd-eh- 688 fd-eh- 5,812 fd-eh- fnlEcj] 2007

iwoZ&if'pe flYpj ls iksjcUnj

xfy;kjs

10 izeq[k dkaMyk] tokgj yky

cUnjxkgksa usg:] eksjeqxksvk]

dks tksM+uk eaxykSj] dksfpu]

363 fd-eh- rqfrdksfju] psébZ vkSj 56 fd-eh- 113 fd-eh- 194 fd-eh- fnlEcj] 2005

,UukSj] fo'kk[kkiVue]

ikjknhi rFkk gfYn;k

vU; 653 fd-eh- 136 fd-eh- 179 fd-eh- 338 fd-eh- fnlEcj] 2007

mi;qZä rkfydk dk v/;;u dhft, vkSj uhps fn, x, iz'uksa ds mÙkj nhft, %

(13.1) Lof.kZe prqHkqZt dh dqy yEckbZ fdruh gS \

(13.2) mÙkj&nf{k.k xfy;kjs ds vfUre LFkkuksa ds uke crkb,A

(13.3) Hkkjr ds nl izeq[k cUnjxkgksa dks tksM+us ds dk;Z dks iwjk djus dk y{; D;k gS \

(13.4) ije jktekxks± ds cu tkus ds ckn budk eq[; izHkko D;k gksxk \

14. Describe any four problems of urban waste disposal with reference to Indian cities.       4×1=4

Hkkjrh; uxjksa ds lanHkZ esa 'kgjh dwM+k&djdV fu"iknu dh dksbZ pkj leL;kvksa dk o.kZu dhft,A



8

15. Study the graph given below and answer the following questions : 1+1+2=4

(15.1) Name the country with which U.S.A.’s exports and imports both are lowest.
(15.2) Name one country with which the balance of trade of  the U.S.A. is most

unfavourable (negative).
(15.3) Name the country with which the total value of foreign trade of the U.S.A. is the

highest. Support your answer with the data given in the graph.

uhps fn, x, vkjs[k dk v/;;u dhft, vkSj fuEufyf[kr iz'uksa ds mÙkj nhft, %
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(15.1) ml ns'k dk uke fyf[k, ftlds lkFk la-jk- vesfjdk dk fu;kZr vkSj vk;kr nksuksa gh lcls

de gSaA

(15.2) ml ns'k dk uke fyf[k, ftlds lkFk la-jk- vesfjdk dk O;kikj larqyu lcls vf/kd izfrdwy

¼vlarqfyr½ gSA

(15.3) ml ns'k dk uke fyf[k, ftlds lkFk la-jk- vesfjdk ds fons'kh O;kikj dk dqy ewY; lokZfèkd

gSA vius mÙkj dh iqf"V vkjs[k esa fn, x, vkadM+ksa ls dhft,A

For Blind Candidates only in lieu of Question No. 15.
dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 15 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 15 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 15 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 15 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 15 ds LFkku ijA

(15.1) What is meant by balance of trade ?

(15.2) What is favourable balance of trade ?

(15.3) What is negative balance of trade ?

(15.4) Name the organisation which regulates international trade.

(15.1) O;kikj larqyu fdls dgrs gSa \

(15.2) vuqdwy O;kikj larqyu fdls dgrs gSa \

(15.3) izfrdwy ¼vlarqfyr½ O;kikj larqyu fdls dgrs gSa \

(15.4) ml laxBu dk uke crkb, tks vUrjkZ"Vªh; O;kikj dks O;ofLFkr djrk gSA

16. Describe five main problems associated with the urban settlements in the developing
countries of the world. 5×1=5

lalkj ds fodkl'khy ns'kksa esa uxjh; cfLr;ksa ls lEc) ik¡p izeq[k leL;kvksa dk o.kZu dhft,A

17. Define the term ‘migration’.  Explain any four factors which are responsible for the
migration of people in India. 1+4=5

^izokl* 'kCn dh ifjHkk"kk nhft,A Hkkjr esa yksxksa ds izokl ds fy, mÙkjnk;h fdUgha pkj dkjdksa dh

O;k[;k dhft,A

18. Define ‘density of population’. Explain with examples any four factors influencing the
density of population in the world. 1+4=5

^tula[;k ds ?kuRo* dh ifjHkk"kk nhft,A lalkj esa tula[;k ds ?kuRo dks izHkkfor djus okys fdUgha

pkj dkjdksa dh mnkgj.k lfgr O;k[;k dhft,A

19.   (19.1) In the given outline map of the World four features are shown as A, B, C and D.
Identify them with the help of the map legend and write their correct names on
the dotted lines given in the map. 4×½=2

(19.2) On the given political outline map of India provided to you, locate and label the

following with appropriate symbols : 3×1=3

(i) A nuclear power plant in Rajasthan.

(ii) One major sea-port in Gujarat.

(iii) A state where Tamil is mainly spoken.
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(19.1) fn, x, lalkjlalkjlalkjlalkjlalkj ds js[kk&ekufp=k esa pkj y{k.k A, B, C vkSj D ls fn[kk, x, gSaA ekufp=k

dh daqth dh lgk;rk ls mUgsa igpkfu, vkSj ekufp=k esa nh xbZ [kafMr js[kkvksa ij mu y{k.kksa

ds lgh uke fyf[k,A

(19.2) vkidks fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuSfrd js[kk&ekufp=k esa fuEufyf[kr dh fLFkfr mi;qä fpUÐksa

}kjk n'kkZb, %

(i) jktLFkku esa fLFkr ,d ijek.kq ÅtkZ la;a=kA

(ii) xqtjkr dk ,d izeq[k leqnz&iÙkuA

(iii) ,d jkT; tgk¡ rfey eq[;r% cksyh tkrh gSA

For Blind Students only in lieu of Question No. 19.
dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 19 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 19 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 19 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 19 ds LFkku ijAdsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 19 ds LFkku ijA

(19.1) Name one most urbanised country of Europe.

(19.2) Name the trade canal that links Atlantic Ocean with Pacific Ocean.

(19.3) Name a famous sea-port located on the east coast of Australia.

(19.4) Name the nuclear power plant in the state of Rajasthan.

(19.5) In which state of India is Tamil mainly spoken ?

(19.1) ;wjksi ds lcls vf/kd uxjhÑr ,d ns'k dk uke fyf[k,A

(19.2) ml O;kikfjd ugj dk uke fyf[k, tks vVykafVd egklkxj rFkk iz'kkar egklkxj dks feykrh

gSA

(19.3) vkLVsªfy;k ds iwohZ rV ij fLFkr ,d izfl) leqnzh&iÙku dk uke fyf[k,A

(19.4) jktLFkku jkT; esa fLFkr ijek.kq ÅtkZ la;a=k dk uke fyf[k,A

(19.5) Hkkjr ds fdl jkT; esa eq[;r% rfey cksyh tkrh gS \
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